o8®

| | = v
l\\llhwl‘ . _, ~ _//\_ I o Do Olmr/H N
) \ o ‘>

| —T \ Fes) \ R | L

| — [\ / Ll... — ' ~ ' U

\ fo) \ N T,

| —T =] 7 \ \ " § (- e \ N ! o]

= VIS = \ > L [ . N o< t v v L~
_ L
o~ : r jCL] T T T >\ B
L-Tv | <] \ [ BN, [ \ (I \ N ~ L O
i ._b.\ //\L | /._ \ \ __ Ll/ﬂ _ _ . " .\uﬁ
\ (L \ L \ \ \ \ \ ~ '
V\V_A ] \_,\\ quv VST \ \ /./— Vi) - .. N N + cd~
T AT _ &> N ™ ; " : —0g :
= U R Sa s \ \ \ T N
! ., ,. \ w\A _. \—\/ \ N ! \ L_//. \ N \ ~! ~
N T I Ll 1
<\ ek /\A. | > o T | \ | VN \ \ ~
T~ v T VTR ' \ N~ \ =
_/.T\/ VT L/\.ﬂ\r v \ \ i~ __ > _— Y /r—
\ \ ! IS ~ ! ™
/ \ ,V\JM—/\\. 3 T ! ! ./../ , ! " -
) k ,\m\ r~ \_.\ ~ SRR T i TR \
K N ,\,\ ' \ I oy T~ \ S \ ~ \ ~ =~
\ W Vo <\ ,»f N~ \ vy \ \ . ,_
3 R T T T T
\ e ~ \\.,\ \X \ \—\\V\AA\ \ SERREE //,_ \ ~ ! RS
,\_ . SNy \ S w) \ \ ‘1 < T 0 D6
\ W \ \ \ | LU= \ 1 ~ ~
VA., \\ S ~— Iv\\ \ ~— L ,/ K —_ \ ,/ —_ N —_ ™~ l—_
v~ \ vy I &x —— !
\\Wﬂv\/, = \l/, W\Vlﬂﬁ\l\k \ e ,_ /ur \ - | LT
\ VN \ \ f 1] v~ \ i~ : ] .
L ALNTRA I v I—— o \ T S \
AR A A S e L i D S e
\ ,7 v \ \ \ S \ \ L <t b= ¥ T
~ — j
\ L,/y\, /,m,\,,\ T SN | VT v ' L . -
( K2 - 1 ~ L% <\ =] ,\ o .,/ \
\ \ Vo Vo \ ™ —T | T~ Vo ~ ! L=
\ \I.K \ . \,, \ A ~ L RS e ey = v 05" RN
L 7 X ~ v S v Y<_\ N M -
\ \h, /VR ,N, \\ \ ~ TN T v ™~ * ! T ! ™~
\ \ \ /IV A T v~ LT «/V‘\\\\A\L\l’\w ! ~ ) T~
N | o \ - T \ E
\ ™~ 0y [ — — \ ~ Al T <
. A \ D\ ~ L— \ \ \ ~ \ LT ] < T~
g O e Jo [T -
= =1 — <~ |+ ¥ [N A R ~ VL
- ~ 4 LT~ — Ve S L
/ === SOl W R L i~ : :
== — 4 ~ \ J B N \
- — | _ N - -1 /Ir\,\\\//, ] / \ |//\/|I‘M” - i
9T = - — ~I 1 = T~ P e, D & -
e — ~_ ~T N M T~ \ T~
N/ — N~ | ~ T~ =~ —~ S — ] 7 ' ™
~ —[—L 4= =~ 4 e~ \ T~ \
- J ~ ~— T eSS T~ — =1 | | N T
N N ~ M F= T . hl
— 1>~ L =~ — E— =~ Y E
S I = S — S \
~ K~ —] S| ™ & - T~ T
A N NN -] Eoss — =
L~ == L — N - T —
PN K e ~ ~ I I e
~ -  —— —— = = .

N — ~ S —1 ] - 3 i - =
T S R N G A o PR
= = = <

rlf/-W. - N N NOT = [— ~ K = — — — T~
y M N ~ |~ ~ I ~ |
/’l! Iy || — -y ~
— % ST = SRS S, 5
< <% | | — — ~— ~|
T \5 N R L 2o | SES Nni e P
v IIMMI. N M ~ T~ Rt T =
NS — o~ ~| = _ ~d- — | ~| —
— N <) § [T == ™~ 1 — = N
N 1 Iy -
T~ 4 /7 I// o ,OQ/ T — T < s -
L0 - - u T = 2 == - S =—
- ~—_L g | N S~ — o — 4
/w + L[] | ~ —_— T ~ | ™ i~
=1 © ~_ [T~ -~ ]
— T —— g - IIII
el T T N\ A L So—< T RS —— -
=——— i S — RN ~— |- — [ — B
a™\ — <L _ - Hme NN T~
B i S D e 15 < —— = -
80007 - -~ . N I 2o~ Bl ]
T - ~ T - — T - [
AN /ﬁ 4 |_ T~
4 NI TS — H =><I|-H I~ T~ == ~
I N ~ o< —|— _ N il
- S ====-----______ .|/ ~ I~ - Il L A
R N ittt o il J4 N L H. | // "A”,I -
= == -
SN RN =1L N
g _ _ I ———1 e - s
=== -1 _ o ~ - -4 |- M~
e S I N2 = —
T n 80000 -1 T -1 -FN ~. / REs
Il s o o o el - -
~ />l e ] N - T
~3 T SRR =
1 1 | L I~
— ——— o> —
T Y~ |- —
_ /_ I~ ~
— a === — e = i 0 = = P e s oy e ey nps 7 — TN T o —
b "N -
S ¥ ~
l4 - —n —|- — 4 — 1 I O O ~ /,//'C
— t o | - ]
IA‘v I R R /I/_ m ~
-——t -1 1+ +— = — - _|__ _ 1 _ g S (! I |
Y ~ 1]
O Y N N e
— L — B — L ) O N S B
P — | R B To U 1 i
= 88 TS ——— 5 Y I Y O R N A P R Y
By-_w /0p00 =

4
3

0.5
o 04

©
o
=

0.3

0.2

0.1
0.09
0.08
0.07

0.06
0.05

150 200 250 300 350 400 450 500 550 600
h / kJ-kg

100



